12. (7 points) Graph the following equation and clearly label the points you use to draw:
(z=3*+{y~1p=09.

13. (7 points) Solve the following inequality: —3z — 3 < 12. Clearly indicate the steps
involved in your solution (or lose points).
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14. (7 points) The rate of vibration, V, of a string under constant tension varies inversely
with the length, L of the string. If a string with the same tension is 20 inches long and vibrates
500 times a second, what is the length of a string that vibrates 200 times a second? Clearly
indicate the steps involved in your solution (or lose points).
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